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Batch 1,Bag 1, Lab
" Slope=- O 0029=+0. 0008 yr

- Batch 2, Bag 1, Lab
| Slope=-0.0137+0.0012 yr

- Batch 3, Bag 1, Lab
| Slope=- O 0046=+0. 0012 yr

= Batch 3, Bag 1, Tank
| Slope=-0.0069+0.0014 yr

= ‘F

" Batch 4, Bag 1A, Lab
. Slope=- O 0064+0. 0006 yr

= Batch 4, Bag 1C, Lab
_ Slope=- O 0080=+0. 0005 yr
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- Batch 4, Bottle, Lab
Slope=-0.0030-£0.0007 yr 1
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Batch 2, Bag 2, Lab
- Slope=- -0.0067-£0.0010 yr

LT M

Batch 3, Bag 2, Lab
Slope=- 0 0038+0. 0010 yr

= Batch 3, Bag 2, Tank
| Slope=-0.0079+0.0009 yr *

=1 * * * -
" Batch 4, Bag 1B, Lab y
. Slope=- 0 0058+0. 0008 yr -
3 g
- Batch 4, Bag 1D, Lab ‘#‘ -
| Slope=- 0 0092+0. 0007 yr J
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Tris batch: 1=0 2=0 3= 4=>%
Storage vessel: Bagl1=0 Bag2= 0O Bottle= O
Storage location: Lab= § Tank= &





